Code 2017-12-22
FE 4

A0 = =




HIEAMOBRIRIES

<%
@ ke fangl =0
one_check In orders = ....

% >

<td>
<% @ke_fangl = 0%>
<% one check in orders = CheckInOrder. ]DlnS( ; ) .

where("is check out =

? and check in orders. leave date like ?

, "#{year}%", params]| ])%>
<% one check in orders.each do |c| %>
<% @ke_fangl += c.current price.to f * c.check in days%>
<% end %>
<%= @ke fangl %>
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« Are you sure? => ZHRENN ?

Bug #4335

web - FEHU I, B 3 Are you sure => 3. OK
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<td>
<%# 1f User.find(user.id).is enabled
<% if usel§.is enabled %>
<%= link to modal to set sale rate users pa

o . "ITHALPE " do %>
'{:nf;— Tl =] E j:-l' }Fl_ 11 [:]__
<% end °




F(FFH prepared condition

 where(*goods.name like ?”, params[:name])

@goods.where("goods.name like 'S#{params] 1}%'") if params
@goods .where( => params [ 1)

@goods.order('goods.created at desc').page(params| 1)




THERRIFOANF

("company id = ?",
=>"BEFYmIDTE",
category id")%>

=>

"Btorehouse id")%>
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<td>

<%= @dish_orders.where("payment = ?", "alipay").sum( ).to f.round(2) %>
</td>
<td>

<%= @dish_orders.where("payment = ?", "card").sum( ).to f.round(2) %>
</td>
<td>

<%= @dish_orders.where("payment = ?", "transfer").sum( ).to f.round(2) %>
</td>
<td>

<%= @dish_orders.where("payment = ?", "check").sum( ).to f.round(2) %>
</td>
<td>

<%= @dish_orders.where("payment = ?", "sign").sum( ) .to f.round(2) %>
</td>
<td>

<%= @dish_orders.where("payment = ?", "hang").sum( ).to f.round(2) %>
</td>
<td>

<%= @dish_orders.where("payment = ?", "hui_yuan").sum( ).to f.round(2) %>
</td>
<td>

<%= (@dish_orders.sum( ).to f - @dish_orders.sum( ).to fj]. round(2) %>
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def operation_text
case .operation
when 'in'
IAEI
when 'purchase in'
'KWITEAE"
when 'out'
III:HF‘_'—'I_:I
when 'dish out'
‘¥ E
end
end

def chinese_ operation_text operation
case operation

when 'in'
I)\EI
when 'purchase in'
'KWITRAE"
when ‘'out'
|||:I:er:.‘—'__'_:|
when 'dish out'
EX 1
nd
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FIan FEMCASEISE —1T

<% GoodsFirstCategory.jolns : .where("purchase orders.purchase
<% 1f category.restaurant goods second categories. count = 0 %>
<% category.restaurant goods second _categories.joins([{ => [
<label><%= category.name %></label> - <label><%= second category.name %></label>
<% purchase orfiers = PurchaseOrder.joins( ) .where("purchase orders.purchase 1]
and goods.restaurant goods
@purchase_list.id, second c
<% purchase orders.includes( ) .each do |order| %>
<table>
<thead>
<tr>
<th>%) @ % #5 </th>
<th>% M X £ </th>
<th>EFHE </th>
<% if @purchase list.status == 'checking' || @purchase list.status == 'z
<th>
B 1F
</th>
<% end %>
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AEES(EH joins

def index
@in_and out_storages InAndOutStorage. joins (
@in_and out storages = @in_and out storages.joins( ) .where("goods.s
params [ ]) if params]| ].pres
@in_and out_storages = @in_and out_storages.joins( ) .where("goods.g
params [ ]) 1f params|

@in_and out storages = @in_and out storages.joins( ) .where("goods.r
params [ 1) if
@in_and out storages = @in_and out storages.joins( ) .where("goods.n
"S#{params [ 1}%") 1f params]| ].present?
@in_and_out_storages = @in_and_out_storages.order('in and out storages.
@company_1id = current user.company 1id
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BY dish_order, purchase list

[flass InAndOutStorage < ActiveRecord::Base
belongs to . => Staff, => 'staff id'
belongs to => Staff, => 'ling qu staff id'
belongs to

belongs to
belongs to => PurchaselList, => 'order id'
belongs to => DishOrder, => 'order id'




includes ZEEEMRIFARE

THE_1T7HY includes E57E controller §8

<% if @in_and out_storages.present? %>
<% @in_and_out_storages.includes( ) .each do |in_and out_storagf| %>
<tr>
<td><%= 1n and out storage.good.name %></td>
<td><%= in and out storage.quantity %>
<%= in and out storage.good.unit %></td>

<% staff = Staff.find(in and out storage.staff id)%>
<td><%= in and out storage.dish order.serial number %></td>
<td><%= in and out storage.dish order.dinner table.name %></td>
<td>
</td>
</tr>
<% end %>
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s BB BTEALL.

<% @day_array.each do |day|%>
<% dish orders = DishOrder.includes( => ).joins(
) .where("dish orders.created at >= ? and

dish orders.createl at <= ? and dinner tables.company id = ? and is paid = ?",
day.beginning of day, day.end of day, current user.company id, )
dish orders.each do |dish_order|
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shuli guo purchase orders.each do |order|

@shui_guo_month += order.quantity.to f * order.unit price.to f
Bnd
gan huo purchase orders.each do |order|

@gan_huo_month += order.quantity.to f * order.unit price.to f
end
tiao liao purchase orders.each do |order|

@tiao_liao_month += order.quantity.to f * order.unit price.to f
end
liang you purchase orders.each do |order|

@liang_you month += order.quantity.to f * order.unit price.to f
end
dan purchase orders.each do |order|

@dan_month += order.quantity.to f * order.unit price.to f
le
dou purchase orders.each do |order|

@ou_month += order.quantity.to f * order.unit price.to f
end
guan tou purchase orders.each do |order|

@guan_tou_month += order.quantity.to f * order.unit price.to f
end
chu fang yong ju purchase orders.each do |order|

@chu_fang_yong _ju month += order.quantity.to f * order.unit price.to f
end




ri yong_ pln _purchase orders = PurchaseOrder.joins(

).

where("goods first categories.company id =7 and goods flrst categories.name like ?

params [ 1, "*HHAm%", "#{params[
wei xiu purchase orders = PurchaseOrder.joins(

1}%"
).

where("goods first categories.company id =? and goods flrst _categories.name like ?
params [ 1, "%#E{E%", "#{params|
shui_chan purchase orders = PurchaseOrder.joins(

where("goods first categories.company id =? and
params[ 1, "%IK=%","#{params|

shui guo purchase orders = PurchaseOrder.joins(
where("goods first categories.company id =? and
params [ ], "%WKRE%","#{params[
gan huo purchase orders = PurchaSEDrder joins(
where("goods first categories.company id =? and
params [ 1, "sF %", "#{params|
tiao liao purchase orders = PurchaseOrder.joins(
where("goods first categories.company id =? and
params [ 1, "% s", "#{params[
liang_you purchase orders = Purchaseﬂrder joins(
where("goods first categories.company id =? and

params [ 1, "%tBim%", "#{params|

1}%"

=> [{ |

restaurant_gonds_second_categnrles.
1}%")

== [-[ .

restaurant goods second categories.

]}g n

=> [{ |

restaurant goods second categories.

135%")

=== [{ .

restaurant goods second categories.
]}g n

=> [{

restaurant goods second categorles.

1}%"

dan purchase orders = PurchaseOrder. Jolns( => [{

where("goods first categories.company id =? and
params[ 1, "%ZE%","#{params|

restaurant goods second categorles.

1}%"




{EFITmIE

 ['shul_guo’, ‘gan_huo’...].each do |[name]
eval(“#{name} purchase orders”.....)
end




A AR

def return
if params| ] .present?
return count = params]|
if return count > @dish_
flash[ ] = "B% %
else

end

count = @dish_order_detail.count - return count
@dish_order_detail.update attributes(

=> return count,
=> count

)
# BITREM
dish order = @dish_order_detail.dish order

dish order.update attributes => dish order.total cost
end

redirect to
end
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